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SM: HHEZD

X

el

= - 4 14
Y2 CH (S H) - HISAIY - BAS %Eﬁ HR=2
EL0lE2E JtY 5,000,000 5,000
Al HI 2,500
24| 2,500
&I G 7,800 6, 160 1,640
Htg A 7,800 6, 160 1,640
El &2 7,800 6, 160 1,640
Ot DIZIM S DXt B4
260,000 x30 7,800
243 182,214 157,953 24,261
= 12,810
Al HI 32,210
24l 137,194
gt NE2A 16,400 15,973 427
= 4,920
Al H] 5,740
I 5,740
R 7,800 7,200 600
= 2,340
Al H] 2,730
T 2,730
222l gl 7,800 7,200 600
o8 s ZAY 7,800,000& 7,800
= 2,340
AlH] 2,730
Tl 2,730
BHE A 8,600 8,773 A 173
= 2,580
Al Hl 3,010
24| 3,010
SHALAIHIE A2 8,600 8,773 AN173
OBIgt | =X 2T NEu=s A&
5,300,000& 5,300
= 1,590
AlH] 1,855
Tl 1,855
ol gt & 2 20 3,300,000& 3,300
= 990
Al HI 1,155
24l 1,155
olgt A= ] 2,560 1,900 660
= 1,230
Al HI 665
I 665
e2d 2,560 1,900 660
= 1,230
Al H] 665
T 665
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2N

N2 o g & orgt
Chelr MEDIYS B4 (c9: & 9)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 2,560 1,900 660
O=20&0 1,900,000 1,900
= 570
Al HI 665
=yl 665
ool st 660,000 660
= 660
9t 22 AFEE 13,520 14,600 A 1,080
Al HI 6,760
T 6,760
201 gBt2Ay| 13,520 14,600 A 1,080
Al HI 6,760
Tyl 6,760
01 AP 2t 2| H| 13,520 14,600 A 1,080
Oolgtel 2 A 13,520,000 13,520
Al Hl 6,760
24| 6,760
g2 "HlAZS A 19,800 18,000 1,800
Al HI 9,900
24l 9,900
401 Al HI L 2l 19,800 9,000 10,800
Al HI 9,900
I 9,900
01 Al&E H| 19,800 9,000 10,800
OHlaZ+=AlA 9,900,000 9,900
Al HI 4,950
T 4,950
Obl&Z24Al 9,900,000& 9,900
Al HI 4,950
24| 4,950
gt &gl 2,000 2,000 0
Al HI 1,000
T 1,000
405 XHAHFI S HI 2,000 2,000 0
Al HI 1,000
T 1,000
01 XAt 2 E F 2,000 2,000 0
oolge & 2,000,000& 2,000
Al HI 1,000
=1 1,000
SH2(CH 3 AH 8t 22,200 7,400 14,800
= 6,660
Al HI 7,770
24| 7,770
405 KHoHFE S HI 22,200 7,400 14,800
= 6,660
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SN HEE
M OFMSE T AID|IBHAIE =4
crel: JIMAILE 22 CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
-Jlga 6, 1602 *20Kw* 122 x1.037*1.1 1,687
-AIE =2 92 *1,200Kw* 12 x1.037*1.1 1,512
- Shl= 549
-llEs 5,500 *x12& 1.1 73
-AMES2 20 %300 £=+128& *1.1 80
-3l E 30,000&*12& 1.1 396
Bots 22l 504,425 472,787 31,638
201 et 9| 281,792 306,791 A 24,999
02 2324 281,792 306,791 A 24,999
OBoEsE E4+8 SUHE AIS 35,000& ~12& 420
OoBots ®Ila
4,650) 128 x5, 2555 0. 959561 281,372
206 M = Hl 68,183 61,616 6,567
01 XHZ Hl 68,183 61,616 6,567
OoBotsE Bxg 2 68,183
-UHESHED
10,4502 x5, 2555 * (365 *12A1 2+ ) /14,000 Al 17,181
2t
LIES® T ot& )| 15,400) *5,255 = *10% 8,093
BNE=PSR=-l| 40,1002 5,255 *15% 31,609
Hots I3 30,000 x5,255E *3% 4,730
H42 A 2,000& *5,2555 *5M*5% 2,628
228 15,000& *5,255S *5% 3,942
401 Al HIZL 2 0HY| 154,450 104,380 50,070
01 Al&H| 154,450 104,380 50,070
OZ2U BotsS £ 3 A 74,480
HotE #=2| 49,6532 «1,50004 & 74,480
O2U EotsS MAZAF 79,970
Hots a4 727,000& x110S 79,970
28 22l 1,215,460 1,171,478 43,982
201 et | 918,820 957,882 A 39,062
02 222 4| 918,820 957,882 N 39,062
OJtzs &z 892,656
sz
6,290 4002 x5kw* 122 x1.037%1.1%0.9 154,981
-AEs
85.9& % (0.44kw*x5085+0. 28kw*5,600S ) 12H 737,675
*3652 x1.0944
OJtzs R4 H = 10,164
KT, 2MENE 115,500 «12& 1,386
- SKEAME 8,778
-Jlga 5,000 «70CH =12 *1. 1 4,620
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M HAESZ
HE: OB TADIBAL EH
Chelr JIMAIEE 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-AMER 30& «70CH *12& *15024 *1 .1 4,158
O3 &XTH KA 10,000
-HEotRs &Y =2l 1,000,000 1,000
GUSYRATA VYR SDEY 2
1,000, 000& 1,000
-HEIHE 39 3&xH =2l 1,000,000 1,000
CHEIEHYE €& s Z2xY =27
1,000,000 1,000
OiHZE 28 F32xg 2 1,000, 000& 1,000
O =we 510 1,000,000 1,000
OIS OlDIAH M 2 B2Xxd =gl
1,000,000 1,000
S=CED 9 ZFREY $2 1,000,008 1,000
Sscess ¢ USsD 19 42
1,000, 000& 1,000
CIHOHEZ QIO ME S22 28 2
1,000, 000& 1,000
OUUEHHB A MIZTHAE R+ 6,000
LS B 400,000 * 1074 2 4,000
MBS WX 200,000 * 1004 2 2,000
206 M= Hl 68,565 64,096 4,469
01 M2 4l 68,565 64,096 4,469
ON2s E=TH 68,565
S
11,1002 *5,600S * (3652 *12H) / 14, 000H 19,448
& D] 19,830& *5,600S *10% 11,105
H2s I+ 71,500& *5,600S *3% 12,012
E=R=-p] 407,000 *41081 x10% 16,687
B8 dA 550& x183,000m*5% 5,033
oHE Dl AHH 11,000& *5,6002 *5% 3,080
- AEF 40,000,000 *3% 1,200
401 Al H L 2T 228,075 149,500 78,575
01 A& HI 228,075 149,500 78,575
Otzs =872 M= 124,400
2 22 2 A 1,200,000 *80& 2t 96,000
A ZX 40,000& 5004 20,000
Hzs EH Y MWEX 105,000 *80H 2 8,400
OJN2sS tH&Eg & II2sF HE £X3A 64,675
2 S &g 58 2¢ 5,500& *410&H 2,255
h2s S 2F 22 9,000& x5,600=2 50,400
HE &X4 2,000& *(5,6002+4102H ) 12,020
OltEL=F JI2S WM=ERZA
1,500,000& 202 30,000
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M HAESZ
HE: OB TADIBAL EH
chel: JIMAIEZE 22l (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OL-FtH&Eg WM & 2+3A
3,000,000 =34 2 9,000
&AL HOI|&Hl 22l 309,860 323,945 A 14,085
201 £B-2dH| 308,900 323,945 215,045
02 3323l 308,900 323,945 A 15,045
OFREAN 2323 276,941
- REA HIIE 223,818
-JEzs 8,320 *600Kw* 128 x1.037*1. 1 68,333
-AEE
109& 114, 516Kwh* 128 »1.037*1.1x0.91 155,485
- Mg - oSIAIR A Mg 31,019
-JEz 6,160 *164Kw*12& 1.037*1. 1 13,829
A==
923 *15,000Kwh* 128 »1.037+1.1%0.91 17,190
- SXNEHY M2 10,704
-JEz 6, 1603 x25Kw*12& 1.037*1. 1 2,109
-ABE
923 7 ,500Kwx 128 x1.037*1.1%0.91 8,595
- FEA FHIILH HEFE U2
950,000& = 12& 11,400
OFREA #II4dH RAES 30,000
- KHXH = OH HI 1,250,000& x4 43| 5,000
- S Alzteldl 12,500,000& »&H 23| 25,000
OFREA HI4EHEI X 1,959
- 2 XYl 200, 0003 *4 9 #20H 2 1,600
=] 9973 *602| & 0. 5h*=12& 359
405 XHoHE S HI 960 0 960
01 AL EFH S 960 0 960
OFREAL HI1a W) WH 960,000& 960
=82 & 2te 428,891 414,603 14,288
tH-EHZd 29 428,891 414,603 14,288
201 2Bt | 420,631 409,603 11,028
01 At 22/l 2,918 1,950 968
OAUTO CAD LT T2 AI82(14)
484,000& »2H 968
O822I & II2SE+J 1=
150,000& = 13H 1,950
02 8323l 417,713 407,653 10,060
Oi=8ZZ w=, g3t ¥ ZAtH| 10,420
dO|erE el AL 83l 85,0003 »x2H 170
dolerd e & g3l 60,0003 x2H 120
-RESetd et g3l 36,0002 x2H 7?2
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
ot ztel HE ¥ A= 400,000 «5H 2,000
BABIN M)l 2Ae42

1,050 x6,976kw*1. 1 8,058
Oti=8 o & AId&Ed SX 128,227
NEIEZY =B (18U1)
13,000,000& = 18CH 7% 16,380
CHEIEIDY NS2H Y AX(180H)
8,000,000& = 18CH x7% 10,080
SHEIEDY =M II(120)
10,000, 0002 = 12CH 7% 8,400
- HY2BZE OB X (320HP,50H)
13,000, 000& »5CH x20% 13,000
SEY2EETE NAD2H L AX(500)
8,000,000& »5CH x20% 8,000
YYD HIALEII(1,069%w,2CH)
7,373&1,069kw 7,882
- Ot B I & B 48 I (355HP,50H)
13,000, 000& »5CH x20% 13,000
COICHEIZA NADH L AR(50H)
8,000,000& »5CH x20% 8,000
-otetE A Hl A A I (1,569Kw, 1)
7,373&%1,569kw 11,569
CHEIEHZY AXEI(600HP) 7=
1,729& x2,0004 3,458
ZYIHIOH YA 8B
1,729& x2,0004 3,458
BH+EDE gaexel 89
300,000& x50 m* 15,000
CHEIEDE £XM S2 (B RA S)
10,000, 000& 10,000
Oti+=8Z2Z 23223 279,066
SEEIEEY M 205,451
-HE=RoE E0g 101,352
Z2s 8,320 *1,900kW 53 1. 1x1.037 90, 161
INE=2=3 109& %18,000kWh*53 1. 1%x1.037 11,191
-dAIRSHE S0 104,099
2z 8,320 *390kWx12& x1.1%1.037 44,417
AMNEZF 1092 x40,000kWh*12& »1.1x1.037 59,682
dgogoy Mz 30,738
-HERoE S0 20,164
2z 8,320 x400KW 52 »1.1x1.037 18,982
AEZ 1093 *1,900kWh*53 1. 1x1.037 1,182
- H4ARotE MY 10,574
2z 5,550 x68kWx 128 x1.1x1.037 5,167
MNES 793 x5,000kWh* 128 1. 1x1.037 5,407
ottEEE Mz 39,745
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SM: HHEZD
Ha: OB T A

JIEFAIE X4
Sl HAEDT 2 (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
-HEESE S0 19,067
sz 8,320 x390KWx52 x1,1%1.037 18,507
AE2E 109! x900kWh*52 =1, 1%x1.037 560
- MAIESIE 42 15,873
2z 5,550 *68KkWx 122 «1.1%x1.037 5,167
ANES 79& *9,900kWh*12& x1.1x1.037 10,706
-XotEE dIZ2 4,805
eEs
5,550 «6kWx 122 « 1. 1x1.037+2H & 912
ANES
792 x1,800kWh* 128 *1. 1x1.037+2H & 3,893
BHABEE o stac2
33,000 *3H A x12& 1,188
BeEIE SM2
40,000 3 A x 122 *1 .1 1,584
CHABIN BZWHRLD
60,000& *3H A *x23] 360
206 M = Hl 5,000 5,000 0
01 X2 H| 5,000 5,000 0
Oth=EHZ A 2IH=E 5,000,000 5,000
405 RHoHFE S HI 3,260 0 3,260
01 XA E B F S| 3,260 0 3,260
O&tg, 28 T & 2,540
WHWekg) WA 600,000& 600
HEAD WH 500,000& 500
ZHAE W 200,000 x4 4! 800
Ol XF WH 160, 000& »4 A 640
OodtetE T & 720
ZHAE WA 200,000 x24! 400
O XF W Hl 160,000& *24! 320
OFM G Al 22 393,738 215,710 178,028
CCTV S&2MAH 29 393,738 215,710 178,028
CCTV S&2MAH 24 393,738 215,710 178,028
101 e1214| 249,815 199,310 50,505
04 JIZtHI22XNEE S 249,815 199,310 50,505
OZMAEH PLIEHE o8 249,815
-SLEHLE JI=23 65,670 x11& %250 180,593
- =X 65,6703 11 52 37,564
=D\ 65,6702 11 %12 8,669
Z2O0IHZEEREE 2 226,823,000 *4 .5% 10,208
- ZOAHAUBEEEZ 226,823,000 *3.035% 6,885
NE8g8g=2 226,823,000 *1.5% 3,403
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SN AESED
o O EE T AR
& CCTV SEZMAH 2 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MHEERES 226,823,000& *0.9% 2,042
LI RARES 6,884,000& *6.55% 451
201 €2l 92,923 15,400 77,523
01 At 22/l 4,400 3,400 1,000
O2gEs 7*¢ 200,000& =128 2,400
Ousull & 2= M 2,000,000& 2,000
02 =224l 88,523 12,000 76,523
OCCTV J&sSe =dz
100,000& 102 &+ 123 12,000
OFXH S8 A X2l
17,000, 000& *5% 850
OF XA 2™ ECCTV SA2eltl
360,000,000 *5% 18,000
OCCTVS & 2 M dlH = Xl2el 57,673
© - HWS X 224l 567,664,6133 x5%*1. 1 31,222
- - SNSRI E =l 200,386,002& *12%*1. 1 26,451
203 R =&t 1,000 1,000 0
03 A F=XH R =AY 1,000 1,000 0
OSEg2NEH 2= 1,000,000& 1,000
401 AIEHI L 2CHYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
OY-HECTY #+= 10,000, 000& *5CH 50,000
HE2AZH (e ESZ ) 26,786 26,200 586
Jl2&dl 26,786 26,200 586
Jl2zl 26,786 26,200 586
201 et 19,336 19,000 336
01 At 221l 19,336 19,000 336
ORNEZ2E+=EHl 11,440,000& 11,440
OJlege=d Sl 7,056,000& 7,056
Ofs4 29 840,000& 840
203 ¥ S =&l 7,200 7,200 0
01 J122E 2= 3,000 3,000 0
OJI228 YR =2l 3,000,000& 3,000
04 FN2ELSZ=TH| 4,200 4,200 0
ORAN2EYE=LHI 4,200,000 4,200
405 Xt&tE SHI 250 0 250
01 XML = ZFH SHI 250 0 250
OdW&n wiH 250,000& 250
HRas(tdsZn) 474,233 453,157 21,076
HEHHX = 474,233 453,157 21,076
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SN BRI
M YRS

SE(AHMESZ)
S WEAHAHX =
= _ — d =

SA - BB B () - MM - BES Ol &t o e

N R=lE=ear=1 474,233 453,157
702 )1 SEEZS 474,233 453,157
0 II2d8E3 474,233 453,157

OMt2eld3 142,269,778,370& *1/31/100 474,233
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